RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Gu Achi District FY 2010 Budget Amendments for Sikol Himatk, Covered Wells, Santa Rosa, North Santa Rosa and Palo Verde Stand Communities and the Gu Achi District Administration)

RESOLUTION NO. 10-127

1	WHEREAS, the Tohono O'od	lham Legislative Council did convene on April 7, 2010 to address issues		
2	pertaining to th	e Nation; and		
3	WHEREAS, on March 27, 20	10, at a regularly scheduled meeting, the Gu Achi District Council did		
4	approve budge	t amendments for the District's communities and the District's		
5	Administration	; and		
6	WHEREAS, Sikol Himatk C	ommunity had expended funds in their community's budget and		
7	submitted a bud	lget amendment for approval in order to meet the community's needs		
8	(Amendment #1	, Resolution #0310-163) as attached hereto; and		
9	WHEREAS, Covered Wells	Community submitted a budget amendment (Amendment #2,		
10	Resolution #03.	10-165) with an amount of \$1,500.00 decreased from line item #750		
11	Major Capital E	<i>quipment</i> and a decrease of <i>\$8,000.00</i> from item <i>#861 Miscellaneous</i>		
12	to include new	line items for <i>#710 Utilities</i> for an amount of <i>\$8,000.00</i> and <i>#724</i>		
13	Kitchen Supplie	es for an amount of \$1,500.00; and		
14	WHEREAS, amendments were also made to the Covered Wells Community's budget justification			
15	line items as lis	ted:		
16	<u>LINE ITEM</u>	DESCRIPTION		
17	#721 Supplies-Other	The request will be for one time assistance and requester must be		
18		present and approved at a Covered Wells Community meeting.		
19	#727 Building Materials	Quotes are required and requester must be present and approved at		
20		a community meeting.		
21	#854 Clothing Allowance	Students employed with the Community Summer Youth Program are		
22		not eligible if they worked the previous year.		
23	#865 Emergency Assistance	To provide assistance to community members affected by unforeseen		
24		events and natural disasters that are beyond a person's control and		
25		will be determined by the damage, with a cap of \$500.00.; and		
26	WHEREAS, Santa Rosa Com	munity submitted a budget amendment (Amendment #2, Resolution		
27	<i>#0310-167)</i> for a	mendments made to the following budget justification line items:		
28	LINE ITEM	DESCRIPTION		
29	#710 Utilities	To pay for security lights (including equipment & installation) at		
30		basketball court and community storage area.		
31	#850 Food	To purchase consumable goods for regular/special Santa Rosa		
i	ll	1		

	RESOLUTION NO. <u>10-127</u> (Approving the Gu Achi Distr Rosa, North Santa Rosa and F Page 2 of 5	ict FY 2010 Budget Amendments for Sikol Himatk, Covered Wells, Santa Palo Verde Stand Communities and the Gu Achi District Administration)		
1		Community meetings @ \$125.00 per meeting or catered meals @		
2		\$300.00 per meeting.		
3	#854 Clothing Allowance	Preschool - 3rd Grade @ \$250.00 per student;4th - 7th Grade @		
-4		\$300.00 per student; and 8th -12th Grade @ \$350.00 per student.		
5	#861 Miscellaneous	The following items are capped as follows: Eyeglasses @ \$250.00;		
6		Contacts @ \$150.00; Dentures @ \$200.00; Braces @ \$200; and Hearing		
7		Aids @ \$200.00 per request, per year.; and		
8	WHEREAS, North Santa Ro	osa Community submitted a budget amendment (Amendment #2,		
9	Resolution #031	10-168) for amendments made to the following budget justification line		
10	items as listed:			
11	<u>LINE ITEM</u>	DESCRIPTION		
12	#727 Building Materials	One request of up to \$1,000.00 per house, per year.		
13	#865 Emergency Assistance	On a case by case basis.; and		
14	WHEREAS, Palo Verde Stand Community submitted a budget amendment <i>(Amendment #2,</i>			
15	<i>Resolution #0310-169)</i> for amendments made to the following budget justification line			
16	items as listed:			
17	<u>LINE ITEM</u>	DESCRIPTION		
18	#625 Education Assistance	Higher education at \$300.00 per request.		
19	#721 Supplies-Other	To purchase materials and/or supplies for community residents,		
20		such as appliances and electrical supplies. A limit of two (2) requests		
21		per community resident, 1st request @ \$500.00 and 2nd request @		
22		\$300.00.		
23	#727 Building Materials	A limit of two (2) requests per community resident, 1st request @		
24		\$500.00 and 2nd request @ \$300.00.		
25	#854 Clothing Allowance	Headstart - 8th grade @ \$300.00, 9th grade - College @ \$350.00.		
26	#861 Miscellaneons	To purchase non-emergency items not identified in other line		
27		items (such as eyewear and hearing aids.)		
28	#865 Emergency Assistance	On a case by case basis.; and		
29	WHEREAS, Gu Achi Distri	ct Administration submitted a budget amendment <i>(Amendment</i>		
30	#1,Resolution #	<i>60310-166</i>) with an amount of <i>\$2,000.00</i> decreased from line item <i>#612</i>		
31		<i>ointments</i> and an amount of <i>\$2,000.00</i> added to item <i>#630 Insurance</i> ;		
32	and			
33	WHEREAS, amendments w	vere also made to the Gu Achi District Administration's budget		

RESOLUTION NO. <u>10-127</u> (Approving the Gu Achi District FY 2010 Budget Amendments for Sikol Himatk, Covered Wells, Santa Rosa, North Santa Rosa and Palo Verde Stand Communities and the Gu Achi District Administration) Page 3 of 5

1
Ł
_

justification line items as listed:

-	juomioutou				
2	<u>LINE ITEM</u>	DESCRIPTION (wording to be taken o	out)		
3	#630 Insurance	2006 Chevrolet Silverado Truck	\$170.00 x 4 \$680.00		
4		2007 Chevrolet Colorado Truck	\$170.00 x 4 \$680.00		
5		2006 Big Tex Cowboy Trailer	\$170.00 x 4 \$680.00		
6		2003 Chevrolet Venture Mini Van	\$170.00 x 4 <u>\$680.00</u>		
7			\$2,720.00		
8		DESCRIPTION (wording to be added	in)		
9		2009 Chevrolet Silverado Truck	\$170.00 x 4 \$680.00		
10		2010 Chevrolet Colorado Truck	\$170.00 x 4 \$680.00		
11		2010 Chevrolet Traverse	\$170.00 x 4 \$680.00		
12		2006 Big Tex Cowboy Trailer	\$170.00 x 4 \$680.00		
13		2009 Backhoe Loader	\$170.00 x 4 \$680.00		
14		1997 Trail King Trailer	\$170.00 x 4 <u>\$680.00</u>		
15			\$4,080.00; and		
16	WHEREAS, the Tohono O'odham Legislative Council's Budget and Finance Committee did review				
17	the communities' and the District's budget amendments submitted by the Gu Achi				
18	District and rec	commend for approval.			
19	NOW, THEREFORE, BE IT R	ESOLVED that the Tohono O'odham L	egislative Council does hereby		
20	approve the G	u Achi District FY 2010 Budget An	nendments for Sikol Himatk		
21	Community <i>(An</i>	n <i>endment#1),</i> Covered Wells Commun	ity <i>(Amendment#2),</i> Santa Rosa		
22	Community <i>(Ar</i>	<i>nendment #2),</i> North Santa Rosa Com	munity <i>(Amendment #2),</i> Palo		
23	Verde Stand Co	mmunity <i>(Amendment #2)</i> and the G	u Achi District Administration		
24	(Amendment #J	l) as attached hereto.			
25	BE IT FURTHER RESOLVED	that the amendment does not affect th	e overall portion of the Gaming		
26	Distribution of	\$1,863,072.77 to the Gu Achi District.			
27	BE IT FURTHER RESOLVED	that the Gu Achi District Council has tl	e authority to modify its Fiscal		
28	Year 2010 bud	get in accordance with protocols s	et forth by this Council. Any		
29	amendments at	ffecting the funds or funding levels of t	he Gu Achi District's Fiscal Year		
30	2010 budget sh	all be approved by the Tohono O'odha	m Legislative Council.		
31	BE IT FINALLY RESOLVED t	hat this resolution will be executed in	an expedient manner.		
32					
	1				

RESOLUTION NO. 10-127 (Approving the Gu Achi District FY 2010 Budget Amendments for Sikol Himatk. Covered Wells. Santa Rosa. North Santa Rosa and Palo Verde Stand Communities and the Gu Achi District Administration) Page 4 of 5 The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 07^{TH} Day of APRIL, 2010 at a meeting at which a quorum was present with a vote of 2,595.50 FOR; -0-AGAINST; -0- NOT VOTING; and [04] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (d)(2)and(3) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). **TOHONO O'ODHAM LEGISLATIVE COUNCIL** <u>Jehns Munch</u> Verlon M. Jose, Legislative Chairman 14 day of <u>April</u>, 2010 ATTEST: **Evonne Wilson, Legislative Secretary** day of Umil , 2010. Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the /4 day of /6 .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal. TOHONO O'ODHAM LEGISLATIVE COUNCIL erlon M. Jose, Legislative Chairman on the **I A APPROVED** \ day of at 9:35 o'clock, **] DISAPPROVED** NED NORRIS, IR., CHAIRMAN **TOHONO O'ODHAM NATION**

Returned to the	Legislative Secretary on the _	15 day of	
	A .0-1		
-Upril	, 2010, at _ <u></u> o'clo	ock, <u><i>A</i></u> .M.	
1	10-		
alemelle	la	_	
Evonne Wilson,	Legislative Secretary		

ACTION: APPROVING THE GU ACHI DISTRICT FY 2010 BUDGET AMENDMENTS FOR SIKOL HIMATK, COVERED WELLS, SANTA ROSA, NORTH SANTA ROSA AND PALO VERDE STAND COMMUNITIES AND THE GU ACHI DISTRICT ADMINISTRATION

MOVED: COUNCILMAN TIMOTHY JOAQUIN

SECOND: COUNCILWOMAN CYNTHIA E. MANUEL

DATE: APRIL 07, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose) 2. MARY LOPEZ	99.35 99.35	X X			
SELLS 449.6	() 1. KIMBERLY LISTO () 2. EVELYN B. JUAN MANUEL	224.80	X X			x
SCHUK TOAK 159.0	() 1. FRANCES B. CONDE (Absent) (Fredrick Jose) (Present) 2. LINDA PARLEY (Agnes Joaquin)	79.50 79.50	X X			
SAN XAVIER 204.7	1. FELICIA NUÑEZ () 2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35 102.35	x x			x
SAN LUCY 187.1	1. LORRAINE EILER () 2. GLORIA RAMIREZ ()	93.55 93.55	x x			x
PISINEMO 184.5	 CHESTER ANTONE (Tony Murrietta) EDWARD MANUEL (Gerald Fayuant) 	92.25 92.25	x x		антананана, <u>и ка</u> реланан ан и кар	
HICKIWAN 174.5	1. MICHELLE ORTEGA () 2. SANDRA ORTEGA ()	87.25 87.25	x x			X
GU VO 206.3	1. GRACE MANUEL () 2. PAMELA ANGHILL (Absent) (Angela Ortiz) (Present)	103.15 103.15	x x		Ulinadity Uline	
GU ACHI 230.1	1. TIMOTHY L. JOAQUIN () 2. CYNTHIA E. MANUEL ()	115.05 115.05	x x			
CHUKUT KUK 277.0	 ETHEL GARCIA (Sara Mae Williams) VERLON M. JOSE () 	138.50 138.50	x x			
BABOQUIVARI 324.0	 FRANCES MIGUEL (Absent) (Roberta Harvey) (Present) FRANCES G. ANTONE (Absent) (Vernon Smith) (Present) 	162.0 162.0	x x			
	TOTAL	2,595.50	2,595.50	-0-	-0-	[04]